That crazy derivation in Lab #2
[IN-]11  =  [IN-]9  +  [HIN]9
So   [HIN]9  =  [IN-]11  -  [IN-]9
Then   [HIN]9   =  [IN-]11  -  [IN-]9
                   [IN-]9             [IN-]9

So     [HIN]9   =   [IN-]11  -  1  =    A11  -  1   =   A11 – A9
          [IN-]9          [IN-]9                 A9                                A9
Plug into   KHIN  =  [H+][In-]/[HIN]       gives

KHIN  =  [H+] A9/(A11-A9)      Of course, this holds for pH =  9.5 and 10.0 as well, so 

                                              You can calculate KHIN three times, get an average and 

                                              a standard deviation!
